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LKASA EGG  MODEL
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1. ��
��������������������������������������������
2.  ! ����������������"#$������% '�������$������%���

�����(�
3. �!����������*����� �#��!+�%�$!
4. ��% -��+������%��������(��$��� .���.
5. �-����$�+� �#���������% -��0
��1"#$��$�-�2�.$%����.���$�.%
6. �����(��!!�����%��������(��$��� .���.
7. 56��7�!��������%��������(��1"#$�-�2��.�.+���$
8.  -�������� ! ��'����7�!���(AAR: After Action Review)
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The Four Functions of Management : POLC

Management 
process

Planning
��
���/�01�20���1�
�	��34 
��
����
�546�7/1���37
8
9�����20�7	��34�3

Leading
��7�4����
���7�<��<����
8�1��=����
1
���
���<0�
	��34���1
��20/�
�
�

Controlling
����/�	 ��	�4� ����
�
�31
��
	�6?
��
��37
6�
	6�41���@8=��5�����1

Organizing
�
�/����
��
�� �
�
�������8�1��C37���37
�34C���<0�6D�	
���
����
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1.�
��
��
�=�������
���2����� (Learning Management)

2.�
��
��
�=�������1����
���� (Knowledge Organizing)

3.�
��
��
�=�������
�=����
����(Knowledge Acting)

4.�
��
��
�=�������
��	C16I���
����(Knowledge Sharing)

5.�
��
��
�=�������
��
���K	�1����
����(Knowledge Assets)

LKASA (Bantak)Model  �
��
��
���
���� 5 8
9����
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LKASA EGG ( Bantak ) Model

1.Learning Mg

3.K Acting

4. K Sharing
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1. ����
��
��
���2��=�������
���2�����=��1���
� : �4M��<9���<�
���	���
��
��
���
���� (CKO)
2. ����
��
��
�=�������1����
���� : �4M6�7��	��<���Q���

��
���� (Knowledge engineer)
3. ����
��
��
�=�������
�=����
���� : �4M�����<����6D�	
���
��
�

��
���� (Knowledge practitioner)
4. ����
��
��
�=�������
��3��6320���375C
������
���� : 

�4M��
���(Knowledge facilitator),�4M3�8��(Note taker),�4M6�7/
�
5. ����
��
��
�=�������3
1��
���� : �4M��K	��<�	��M
�
�W�

��
����(Knowledge librarian)
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�
��
��
�=�������
���2����� (Learning Management)

1. 	�	
����
�208�1CEO & CKO �
	�
��
��
���
����
2. �
�/��
1��/
��
Q����
����(Knowledge Vision)
3. ���37�2� 	���
�����C
1��C
1/��
1/����
4. �
����2����=��1���
�=��������
	�
��
���2�����(Fifth Disciplines)
5. �
����2���2�=��������C��
���2�����(Learning Disability)
6. �
��
����������<0�/C1�/���=���������
���2�����
7. ��c2�
���2������		Four Learning
8. ��
����/��
1/������<0�/C1�/����
���2����� (Four Thinking)
9. �7�
	8�1�
���2�����
10. �
���7�4���
���2����������
��8�C
�1����
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��=��1�����6h�KW

�2�
j�c����
���2�����

	���
�
Q8�1�1�����28k9�

��=��1�����
��
���2�����

��
�/
��
�c�=���C��1
��2

���
��1�����
�8k9�

��
��6h���k01��2��8�11
�

�
�����
	��������20��


��
��8�
=�/����
	��/
��
Q��

��
�/���3��18�1���

�
��
��3�
��
��3

�
���
�����c2�
���2�����8�1��=��1����

�
�/��
1���37�2���<0�/C1�/����
���2�����

�
�/��
1��
��<0��
��37/C1�/����
���2�����

�
�/��
1	���
�
Q��C1��
��6h�����

�
��
�m<9��
��
���n�n3�2�20/C1�/����
���2�����

�
��
j�
��
������
�/
�
�5�37��
��4C1�
0�

Surrounding /��
1
/Y
����3��� 

���2����

���2���2�

���2���������

���2�����n�n3�2

�
�/��
1��
��8�
=��37�
Q�����20�2�C�KM

�
���
��
1
�6�7��
�20��
���C�
/
c���6h�KM

Simplify ��
=��1C
� ���C
=�1
�6�7��


�
��
���
��/
��
Q���C���37��Q�
1�3�4�c�

�
��631����3�4�c�@6/�C���6D�	
���
�

System/��
1Y
�=��C 
(��/
��
Q���C��)

��������
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��
���
������������
��
��
���
�����34C���������34C��������
��<0�/��
1�1������C1�
���2������37��<0�/��
1�1������C1�
���2������37Knowledge workersKnowledge workers
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1. ��
����(Knowledge)�37�1����
����(Body of Knowledge)
2. 	��	���<���6�		(Context)�37��<9��
��<�������(Content)
3. �
��7	4��<���
�����
�����20���1�
�=��(Knowledge Identification)
4. �
��/�1�
��
����8�1�1����(Knowledge Acquisition)
5. �
����
(Capture)�37��
�(Tracking)��
����
6. �
�/��
1�1����
����n���
���4���32����
����SECI (Knowledge 

spiral)
7. 	�	
�8�1��Q�����
������<��4M6�7��	(Knowledge Engineer)

�
��
��
�=�������1����
����(Knowledge Organizing) 
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1. Qk�W
��Q�
1�3�4�c� : ��/
��
Q�� �
�c��� 6�
��
 �4��4C1��
�
2. �����
7��/Y
��1���
�(External & Internal Analysis)
3. Qk�W
��
����1�
�����2/C��@��/C���/2�(Stakeholder)
4. Qk�W
��7	���
��3
�(Core process)�
�nmC�����C
����
5. Qk�W
	���
��3
�(Core products)�37	���
�/4���
�(End 
products)

6. ��
�����
�/
�
�5�3
�(Core Competency)8�1�1���
�
7. ��
���6I��
��3
���C1��
�/�
��K�(Critical Success Factors)

�
��7	4��<���
�����
����8�1�1����(Knowledge Identification)
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1. �
����
��
����(Knowledge Capturing) �/
7�
 �k��4�
��
�����
�Y
�����3�����
��
�
=����C
1���
7/�

2. �
�/��
1��
�����
��
�6D�	
��(Knowledge Creation) 
/��
1�
��4��4�8�1�
���
1
�n���4����20��
1
� �
91�C��
�
�31�<���
 �7��C
1�
���
1
��37/�466�7��3
6�7/	�
�M��3
1�
���
1
�

3. �
�/�
�(��
�)��
����=��1���
�(Knowledge Tracking) 
�6h��
�31@6�
��
�����20����8k9��4��4�8�1�
���
1
���<0�
/�
�����
=��6�7n������<��k1��
����=����
=��6�7n����

�
��/�1�
��
����8�1�1����(Knowledge Acquisition)
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�����20/�
�@��

��
�����
����/��
������20�2

/
�/C����
�����20�2��<0���2�	
�
	��
�����20���1�2=��1����

�2�
��
���
�3�4�c���C
1
���
7/� ���
���
�20�8�
=�

	����
�/
�
�5�3
�8�1
�1����@��

�����
����376�7�Y�8�1
��
�����20���1�2 

�
��
��3�
��
��3

�
����
��
�����
��20�<0�

�
�/�
�(��
�)��
��
�����20�2���C�3��=��1����

�
�/��
1��
�����20��
�6h�8k9��
=����1

�
�=��SECI Model =��
�/��
1��
����

�
��
���
���/
��
���
�6�7��	�
���
1
�

Knowledge 
Acquisition �
�
�/�1�
��
����

�
������
7��/�01���3����37��Q�
1�3�4�c�

�
������
7������2/C��@��/C���/2�

�
������
7����7	���
��37nmC�����C
����

�
��
���
�
1��
�/
�
�5�3
�8�1�1����

�
������
7��6I��
��3
���C1��
�/�
��K�8�1
�1����

Knowledge 
Identification �
�
�7	4��
����8�1�1����
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��
���
������������
��
��
���
�����34C���������34C��������
��<0�����C
�1����
�����20��
�6h�8�1�1�����<��7@��37��
�
�
�@����<0�����C
�1����
�����20��
�6h�8�1�1�����<��7@��37��
�
�
�@��

����
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�=�������1����
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1. �
���
����M7	4��3=��
��
��
���
����
2. �
�=�/�
�
�8�1�
��
��
�=�������
�=����
����
3. �
j�c����1���
� 5 6�7�
�: �	���-6�7�
�-
�4MY
�-/��
1/48Y
�-��2�����

4. �
���
��
�����37�1����
����@66D�	
�����1
5. ���
�208�1���6D�	
���
��
���
����(KM Practitioner)

�
��
��
�=�������
�=����
����(Knowledge Acting) 
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�M7	4��3�20��20��8��1=��
��
��
���
����
1. �4M��<9���<����	���
��
��
���
���� (CKO) /��
1/�01���3����
���2�����

�37�6v�n��
/=��=����
����
2. �4M��
�����<����/C1�/����
��
��
���
����(KM Facilitator) ��7�4��=��

���3�
��
/�01�20����
�3C
	�� �
����2 �2��3
 �
@���2 : �4M3�8��/6�7/
�
3. �4M�����<����6D�	
���
��
���
���� (KM Practitioner) ��
0���2������
�

��
1
��3����
�
=��6D�	
�� ��<0�=���2�k1	����<0��
4. �4M6�7��	��<���Q�����
����(KM engineer) �2��
��37�631 

/
1���
7�� ���7�
	�1����
����=���
	���1@���37��
@66D�	
��@��1C
�
5. �4M��K	��<������20���
���
����(KM specialist)��<�	��M
�
�W���
����

(KM Librarian) ��
��
�����20�
����1�
/
1���
7���
��������C /
01/� 
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1.System:Knowledge vision ,Shared vision

2.Simplify : /���3��1�
	1
�6�7��
 @�C�����6�		

3.Surrounding : �
�/Y
����3���=����<9��C��
���2�����

- ������575/��
1 5 3�7�/���5 ������ �2�1
� ���<0�1�<�
���n�n3�2 �������

- ��4�Y
���C1�
��
��
���
���� : �8�C
�1������C
1���
7/�

	�	
����
�208�1CEO & CKO �
	 KM 
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1. �
��C����
�����
�����20���1�
�=��=���C��1
�(Define)
2. �
��3
0����1��<0���
��
�����20���
7/��
=��(Distill)
3. �
���	�����
�����
6�7��	�6h��1����
������<�����
1
6D�	
����<���
�����(Combination)�37�
��6h����/
�

4. �
���
�1����
�����20/��
18k9�@65C
������<0�=�����6D�	
��
��
@66D�	
��(Internalization)

	�	
�8�1��Q�����
������<��4M6�7��	(KM Engineer) 

�4M6�7��	�k1�
��6h��
91�
����
1
� ���	���
� �
����
�2���<�
�4M��
��� �20�
��
���
�20Organizing �
1�C�@6�29 
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���
����



 	�	
�8�1���6D�	
���
��
���
����
1. �
���
�1����
�����20@��@66D�	
�����1 n���
�����
	8�1��=��1����=��

��
@6=��(Using) ����
�6�7�4���=��(Knowledge Application) ��<0�=������
6�7n�����C��1����(Utilization)

2. �
�6�7�����37�C�����1����
��������/�C�1����
����=��C�20���
7/��
	
�1�����
�8k9�n���
����6D�	
����1 �6h��
���2������
��
�=����
����
- �
��	����3
16D�	
��(After Action Review : AAR)
- �
���2�����	���2���
���
�����3
���<�3����3�(Lesson Learned) 
=�3
�WM7����6h����

3. ���
�208�1���6D�	
���
��
���
���� : ��
1
�6�7��
=���2(�
66�

�7)-�2�7@�=���4��
�(�
3�
M����
)-8�
��	��� (n���n/��/��
�)
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���
�208�1KM Facilitators : �C��=������ 4 ��<9�

Learn ��<9�n��
/=��������2�����/��
���2�����/=z{���(��3
/���2)

Care ��<9��
��=��������
��C�1=�=/C=��
�/�C����3<��
�

Share ��<9��
�2=�������
��	C16I���
����/�3C
/�C�
�|I1

Shine ��<9���K���=��������
�Y
�Y���=�/���C�1/��
3
1=�/�2@|

Knowledge is not power ,but Knowledge sharing is power.

Human is important , but Human relationship is more important
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��
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	�	
�8�1	��M
�
�W���
����(KM Librarian)

1. �6h�������3�3
1��
������<�84���
�����
����

2. ��
����������C �3
��
� ����
1�
�8k9��7�	2����
����

3. ��7�
���
����(Distribution)��<0�=����
�1
��8�
5k11C
�

4. ����
��
��	��� ���@8��
������<��1����
�����20��
�
=��

5. ��7�4��=���2�
�6�
	�6320���1����
������C
1���
7/�

6. /
01/��1����
����8�1�1���
� @�C=�C��C/7/���	���@��

�
��
���
����
�	���
��
��
���
����
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�����
91�
���
�������

	
��2��
��/20�1

	
��2��
�/48

��
�����
�����/��c2��
1
�
=��C�20@����
@6��3�1=��

�
��
j�
�4MY
�1
�

��
����	�34�8�1�
�
�
�1
���
��/20�1/�18k9�

�2�����
�=��
��
��
�
��
������C
1���
7/�

KSAB8�1�2��C
1}

�
��
��3�
��
��3

�
���
��������	����3
16D�	
�� (AAR)

�
���
��������	�����
�����3
� (Lesson 
Learned)

Review : �
��	���
�37�C�����1����
����

�
���������c2�
���
1
���<����<0�1�<�=��
�
��
1
�=��C}

�
�/C1�/���/�
	/�4��
����������<0�1�<���<�
�
���
1
�=��C}

�������8���/����7��<0��
��
j�
1
�

Utilization : �
���

�1����
����@66D�	
��
���1

�
��
��
91�34C���<��2��C
1}=��
��
��
���
����

�
�/��
1��
��8�
=�=�	�	
�8�1�34C��C
1}=�
�
��
��
���
����

Committee : �M7
	4��3=��
��
��
�
��
����

��������
��
��
���
������������
��
��
���
�����34C���������34C��������
��<0���7�4��=����������
����/��
1/�����37@����2������
��
���
���1��<0���7�4��=����������
����/��
1/�����37@����2������
��
���
���1

����
��
��
�=�������
�=����
���� 



�
��
��
�=�������
��3��6320����2�����(Knowledge sharing)

1. �4M3
�WM7�37	�	
����
�208�1KM Facilitators

2. ��3
-���2-@���2-��<9��
��=��
��3��6320����2�����

3. ��6�		��<�������=��
��3��6320����2����� 

4. Community of Practice�4����
�6D�	
��

5. Benchmarking �
���
��6�2�	��2�	

6. ���<0�1�<��4�c
�6I��


�
��
���
����
�	���
��
��
���
����



��
����������/��<0�1�20�
�

��
����4����
�6D�	
��

��
���Best practice�20@��

��
�����
������20����8k9�

�
��
���������3��6320����2�����(��<0��C����<0�� 
��<0�1�3C
 /4���2�/���
 ����
/�01�2 ������2�)

�
��
��34C��4����
�6D�	
��=��37����1����

�
��6�2�	��2�	�31
�,�������c
�6I��


Share ��<9��
�2

��
�����������20�
� ��
���
����C����
�/��1
���C�

��
�����������20�
�

	���
�
Q�1�����20�6h����C 

��
�����
918�1�
��8�
��20��
��web site ��
������<�8C
�

��
�����
91/��<0�1�
��
����2

�
��
��3�
��
��3

�
�/��
1��
�Y
�Y���=�=������2�31
���C�

�
���7�4��=����
�1
��3�
/��
���
�/��/�01�2}

Shine ��<9���K���

�
��
��������/��
1/
��
�c�=���C��1
�

�
��
����������<0��/
��
�c���C����C��1
�

Care ��<9��
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“ True success exists not in learning, but in its 
application to the benefit of mankind”
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